RaTliog ANALYSIS

® Health of a company will be pyeenrd thzough
the Anancial ¢xatemeni® namely ——
* PLLale
. Balance gheet

- cafin fow Lralement: ’
* The obove <aid Cratement givel o clkarity agTo

how a <company perstformed in the aat yaxo)
oY o given penod.

% Reading 4 \Intcypretarion of Al £ BIC ¢ an ATt
PeLalc £ £l e nothing but a et oy Numbex:
Numbesg by dhemgelvet den't <peak any thing unley
they axe compased with other numbex.
et WA <Qay AForvy Exambple

X Ha Y e
Capital em ployed Z ey T 2w
ProfHt earned I oL SIS

ene cant jJut compase XUud 4 Y Ud Probic
and coenclude that Yd i< beat becauce,
that T ISL 1€ fovr 3l Capital wWherear Xid
earned I (oL tor 1CY capital- Mere, X 1Hd ig
only  bettey and we ured a Yaho lalled ak

Il Retun o inveatment CROD
% There ave populasly 3 typer of Tahog NAmely —

N2
\2 \% J
PalLalc baced B¢ baged Hy bnd
J N% NZ
6P Rato curvent vatio Retumn oM capivl
employed
v NE N
&z0Le poott cursent agedts Retmn
carel cOTrent liabilitiar cap.employed
CBoth dexived CBoth dexived (Rettmn CPAT)
fsom PeL) fsom B]<) derived dfsom Pl

L (E fsom B[
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% Theve ave & populas walk of compazmnson namely

* Tnbya iy com pasieon and
¢ TNASY 51T COM D) B

¥ TN cale of intafiom COMpParcon, we comparse
cu¥renNt yeaxs wvato o company o fth the vatio
O last yeay and infeypyet accovdingly- om the
othex hand, tn cage Of interfiom COMpamnLon,
we Compase wato of ous company wlth the
yaHo o onothey company doing &milas bugnex-
Lomettmes, compandon Can algp be benchmask

comparison o overal mnductsy bale
* Tn Cimple, vatioe i€ a ‘ool to diagnoge +he tnadd

health of-a company- INhen pPaDpesly diagnoged,
it helps In making necellasy improvemenig.
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FORMAT OF BALANCE SHEET

Sch v

PagHculat AMouNiR ()

T e®QOITY AND LIABILITIES
|- Sharve holdere funds
@9 Share Capital
(b) Regerver £ Surplus
(¢D money recd against Share
wasranil
2. Shawse applicanon money pending X X X
allot ment -
3- Nom —cuxvrent Liabilites

X X %
X K %2
X X x

@O Levg — teym  bovso wing X X X
(b) bederred Tax Liabllity C(N€k) X X X
> Othey (ong - teym liabilities X X X
@) LONg — texrn PoDVIE oA X X X
4 curvent Liabilities
Cor) Enort — teym boTrD w Inge X x X
(b) Tyade payalbles X X X
€D Other curTent labilites X X X
@) ghott tevwm provig ons. X R X

TOTA L(CT)
I ASSETS
I+ Non ~—curvent agketf
Y Propesty, plant £ eqyui praent
() Tangib\e agketg
(L{) Intangible akeix
ki capital w1+ P
Cb) Nem —current mnvegtmen
(¢H Deberyed tox a etk (neb)
(d) Long-tem loanl & adVanCes
(ed) Othex Nen — cursyent a Kei:.
2 Cusvent ageli
(@d Ccusrent inveatmends
(b)) Tnventonek
(€Y Tyade veceivablek.

X R X XXX X
XXX XX >x X
X XX X X[ >

X x |X
> X X
X = >



d) Cagh L egyuavateni]

) Shottterm 1oang and advancex

) Othey cusrent ager

TOTAL CIT)

XX R X
X 3 X XX
X XX X >

TOTALCH) = (T) + ()

NO1TCA

% Balance Sheet con&gt of liabilitiea and a&Letk

Liability i€ the gource of $undk and a Kkek ase the

application oy $UNAR- Tn 2iMple,

*- @;e-iﬁ’ng money = Liability

¥ Putttng momey = ASL&et

¥ Tn +he 2ourcet of tunding, therwe ose R POPUIAT LA

. OWNeA Money (Ex) - povrdwed money Cothex)

* ownerg money e called ar "eguity and othex money

i« called ar “'debt.

% Bty inctudet ghawe capital com werewVes £ Cusplus

pebt includes both tong term & Lhott tevymn) Secuved)

uncecuread

% SousCet of tUndk oze vled to tinance  tiked akek

Inwestment® and  corrent akelR- That Cousce of tond

which i€ employed in aker (<& called as

W capital employed'l




FORMAT OF PROFIT AND L OSS

Pagtculat AMOoUNIR ()

T. Revenue fsom opevatons

T.
-I_\_l‘_'
V-

——

<!

=

]

=
—
—

B x|

Other income

Total income | Revenue (T +17)
Ex penses

cost oy maiternals congumed
Puvchage o £MCK

Employee benefit expense
Finance cogig

Depreciation and amortiSation
ex pense

othey expenses

Total expencges

Pyof{t before exceptional itemg

X

X
X

X R < (x X

X X R

ond extya—ordinazy itewy ,tax.

CIT — iV

- Exceptional itemg
. PooHit before extsa—ordinasy

ttems and tax.

. Extsa~ot1dinasy itemy

Profit bedove tom C Vi~V
TOL expense

Pro it CLo &) for the perod
(18 -X)

» Bagningk per hawe <

C1H Bagce KR X
) Diluted X X X

X X

X X X X

X

A

X
X

X % X X X X x

> (X

X X X x

e

A

X
X

x X X X X X

X

X X

X X X X

X



RATIOE AND ITE ANALYS IS

TmpoTtant Ratiog

0 © ©

Liguwidity Cap- fhucture AceH V1Y Sa\c& fitab
RatHoc RaHoc Ratiog -ility 7atios

|- %\::nt - Debt — L capitaflfo I 6 P vaHo

e E T-O" A 2

]- Actd teat Rmafué)m & FAT-O AN yarne
ool Liowid [l 5. Propiiety 3 w-tap: 3 0Pg panit
Fato o OXIO T O -yaO FOHO

3 caplital q}?g%gﬁo 4 CHS 1o
gea’?\ n@ <. __(En\,enrmy 2a\et a0
ToTo T-0 YOO -

4 Debk gevvic 6. Crediton S OPg: €xp-

' YOO

coveyage \
JoHo- T0 Yoo

Capital prokit migcellaneows
- ability sotiog Rat oL

| Retun o I EPS

capital :
employed ] Mps

a: Retumm on 3. Pe vaHo
Equity. g DPS

S- DIV pay

out ro{o

6. Retentton
T OHO.




LI®UIDITY RATIOS

Ratfo Formul a Remaska
- cuvrent cusvent alfeds * Current a ek ave
Fato cusrent Liabilitiex the a ke Kept for a
pevod £ lyeas:
¥ cusrent [talbllitiet owe
thoge which become cue
n ¢ \Yyear-
- Liayusld Ligguid aggetR » Ligyuid akett =
Yato current liabilities covrent aetk — 2hpek
— pre pald expensges

Notes on  Solvency satiog:

% People ore AWWAY interegted 1t Know whethey a co ic
gelvent Cot) Not. Soluency means, co Chould be 1N &
pogition 10 SetRe i+2 duel.

% Tnexe can be Qtyper of go\\:ency namely ——
- Long tevym golvency
+ 2hort tevm  goluency.

* Fo1 Cg'- MY A ‘ mY: B
Bobght a houce witth gought a houge wtth
S G 9 360 MONTL -
TO pay in ghoytgpan, he
?:Z?SL ;?njoi,‘e:&%eeﬁgd he wil pay LTdebt

- ‘ A CLT putpo

moyal ig Never buy FA fz:;ﬂ tov FA CLT purp
with €T debk.

¥ cR cays ct ghal be paid out eof CA NOl~bY

celling a KeR: That means, cvs Should be paid

by Lelling gtock not by Lelling o ke
x CR 1 expve®ed in no-of tmek. Bigger the
0R moTe Zolvent the Company & and vice vexa:

% TDE AL CR(genevally) = %=1

e :
e i€ vewny ¢rable &ncs,




¥ There i& onother attached waho called ag
“Liggi d Taro" C(CcCaxy + Deb o)

* out o CA, Swck will get converted info cagh
only aftey a (ong-Kme perods. Hence, the numew

—tor ig not CA, ingtead it i& CA —LWCK. BUut

on+l the Crock i gfold, Cxr wont wait- &y the

denominatoy 1€ cCL.
% IDEAL LR 18 21
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CAPITAL &£&TRUCTUORE RATIOS

Ratfo

Formul a

Remaska

A Company Should be golvent not only in ghort
sON, but algéo, long suN, there fore Cap - Lructure

YoHoe are ULLed . A'Kka:- Long tenm) &olency satiog-

|- Debt —eqy
Yatto

pebt
Eq) Uity
CTdeal woto
= Q3

®* Debt meaw long temm
debt

®* Equity = £Cap + R4S

— misc exp.
¥ BEQUtyY ak-a netuwort,
g funde Cox) PTOPHEDY
fanadg -

% PeC 1Q deemed asleqp

- PropNeY
TAHO

Equity
Total aKei

* total axkek (& the appin
of fundg - Hence thig
rahio helps ve -to claxsly
Know how much past
of a KeRR ave finaned
by equity-

¥ Equity = ESC+PLC RS

3 Capital
qeanng
Fat o

pebt+ Pyet-&hap
Eqyuity

¥ Oearing meang levewge.
€ ANy capital that givex
leverage ig& included-
¥ bepbt magnipiet profit
due 1o intexest and el
anaser magnigiet with
i+t pret dividend-

¥ Boywiy heye doegnot
melude Py Sh-Cap

U bebt
ey \iCe
co\verage
YaHo

ERBIDTA
Inteve €+ InStalment

Profik available +o
pay dept commitment




ACTINVITY RATIOZ

Ratto Formul a RemMasha
|- capl tal Turn over/Salex % Capital employed meawg
To'¥atio | capital employed LT fund.
Cin outr bugnek) |x CE= Equity + Debt
CcoT)
CE= FA +CA-CL
Ccor)

CE= FA+ wWap
capital employed 2houldn't
include inveatmenik made
(N othey companyk Showeg:

] Fixed Sale tow edfechvely A
agkers To Fixed ageik are uged N Company
Tatio
3 w-Cap Salex tow effectively w-Cap
T 0" ¥aro LOTking Capital (S oOtiliced in company.
4 Debton Sales %* Al&0 Calyed Debltox
T-0* ¥atio bebton veloeity
Cosd % Laled = cvedit calek
galet * Exprested tn timex.
AVG: Debtorl % 3™ formula 18 expresed
Cot) tn periodt Cmonthg( day)
DebDA X360
Sal\eAs
< 2tpck TO comhs % Algo called <tpek velochy:
TatHo Lok % BExpregsed in Kmek
CoxD Cgenexally)
COMS ¥ 374 formula ic exprexed
Avg - groCk in perviedglmontiu [ day)
Cor)

gtoek/ Avg 'Q’VDCKX%O

galel




6. Credimn puychaces ¥ PUTChacer meavk cyedit
T O TaHo Credifon puvchagek
COT) ¥ Expreked n +Hmeg
Puschages »% 3T formula & expseLed
Avg- Credi tont in periods (monthe]day)
Cor)
cyeditoR| Avg-cyediton
POTChaLer
X 360 [




PROFITABILITY RATIOS
CEXpreited at a °A)

Ratfo Formul a Re maska
| GysogS GBOLR o b % &GP 12 accoonting opg-
pov bt galer Ot
FTAHO % NO Fc4 vC divignons
- Net ovopit Net pootCCPAT)  |% NP iL accounting propit
ToHO Lale’ abtex tanal-
3 0P POt | OPg: proktCERIT) |% This 1€ colting fowotit
Taho Sales % cONGider FC, V¢, Contete
Y CO&S o coBg —
Salex galel
S Redun | pPAT + Tntevedté— | morye explanation in
on capital capital em ployed Notexr below-
employed CeE+D)
6- Retum on Rets CPA T) morve explanation (n
sty E qulty NoteX below-
No e 8

% Ayone making inv&iment wani 4o Know about
vetu o invedtment: When o g tnvests hig money
in 4he company, he wanik o0 Know Hor evesy Fi
INvettment how much he earnt- That in €implewe
Ca\l ad TFetumn ON nverrment/capital employed -

X AR a formula ROCE = Retutn
capemp |
N What 1€ glve

M oney mvested aA vetumm.

in FA 4 LCap (Tnt4 PAT)
capttal employed i< money invested in FA 4L wap
and wetum 1€ what g genervated out of thoge
FA 4L waap- capital i glven by both debt and
eqyuity- Retum heye vepregeni® Cnierest foy debt
ond PAT for ownexn Hund-

% Fuythey breaHuvp is ok ondey —

Retumn
cap-emp

PAT + Int
ce

—
—




¥ This RocE i€ further claggtmed Into & pRawk

N2
J N2
capital T-0. Profitability yatio
TatHo
J v
galex RetuTN
Salel

ceE
X HOW A company can impodve {48 ROCE 9

et ua gay, a cA ingttule inverted Come capital
N a  premiget worth X lay. Cin foyrm o room,

fursniture, interor, +echnology ete)
- Now let us congidey & diffeyent <cenamog

2
J | J
ONStitule ULeR Ahe premifer TIngtituty ULer +he Premicel
for | bareh theough out the fov (O karehes thaough out
Yeas having £oo ctudentt the years having Qo ghuden
with daily woTking hal  — in each batreh with
o | houx. daily 18 .
N N
Tn this cate, the capital Tn thig cate, the capital
which ig in 4he foym ot

which (€ in +he form o | 3
agket & wed only once aket 1S uled |O fumek
which meant these £ a which Mmeang theye i< ag

vndey actvity- optimum  ut licanen.

v IN 4he 18t case, asxket 18 not tutned over o the
extent reauived and N ANd cace the a Let i<
turned ovey appropsately. CTurnovey = activity).
ACHVItY (8 the 18t driver for genevating pro-f{RR-

« Capital employed wmeawk TR 4 W Cap. Both oF them
individually helps in genevating galek. FA ave uged

+0 generate Finighed roduct and +o <ell them -
w:cap algo genevate Laled N the forwm Of debmx-




- date’r to CE (€ Aurthes broken ar ovndey

J
N J
Laoles Lales
FA w-£ap
J
\’ J J
Debon T-0 groCck TO Cyved| oA
TAHO Ya+Ho T:0 vaHo

- CONHNVING the exampte, fom all the batches,
It genevaked T R0C¥ Sales- For CE oy it
generared Latr worth FR0CY which meang the
capital (& turned ovey RO +mek-

-Capital T-0: genesate gater: put profitabiliy
(s baged on how efficiently the busine« ig
catned on: Ty the cok owe vesy high +hovgh
it genevated heavy Caleg, it wouldnot end vup
gwing wetum to Ztake holdex- Co, vetum on capital
employed comer not only becawe of TO TATO
but aléo becawe of pootitabllity ratog-

+ Let ug now exiend thig example 4o a manudactu
—tng company: T+ hat many activitier Like
manuactonng, admnigsanen, celling « promotion
efec.

Mman bfactonng  pPaofit easnad Paptit eamed
operations e product ofer inCusring
at factopyexle all Aadming
gehing coR
N N N2
COQI GvoK proh EBLT
Saler gales cales

conclugion ¢ entize pulle ©f buvshinek (iec on how
buly i¢ the aet Cactivity zaho) and how much
co¢t management ig done o malrigin oot tability:
Cotitability satios).



+ Tt i€ not Jult enovgh to have good <alak and
paotitabi\ity Jwt on papey. Say, company¥ Q0%
gatex are in fom of debtor, then it affeck the
golvency of dhe Ccompany. eaquually important g,
how CE ig placed between debt and eoyuity.

CA KOUSHIK
MUKHESH


Mobile User
CA KOUSHIK MUKHESH


MmIiICCELL ANEOVUL RATIOL

C oncepk Formul a RemMaska
I EasNingg BEATNINGS % BEATNINGL Te presenic
per ghase | No-of - ¢haser easningt available to
equty <H -

®x Tt (€ aftey to
2. bividernd | Total Dividend | Tt congider eayuity

pey ¢hase No-of * &hoawes dividend only.
3 MmpS ¥ May ket value M-V weprerentt total
C Note) No-0of - gnasex mas ket capitalication
4 Dividend O o0
pay out EPS —
vato
<. Reention| Retained EPS X160 Retained EpS= €pS ~DR
ToHo Eps (1= Payout zatio)
6- PE RaHO M p g Tt ¢ expreked tn
cp& Hmes -
Note':

T+ Pesatio and £ps IS gven, then, Mps can
be calculated af undey ———



TLLUOET RATIONS

T . ¢l calculation of §P Ratio
CPQNDF‘ P Ratio = _§P % 100
3-4<) Saler

Pa® Hiculan ROA! ~ AR R02-X3

A Qg prott 264,000 2 F6,000

b- galex 33,00, 000 2 3,+4000

c. QP Ratio (4|b) RI-33% RO 2%
Commentt

Tn the Yexr &Koal— 3R, CO0QL/Zaler 1€ Fbt%
wheve a% the C0&¢L feallr Hfor R0aA-R3 7Taised
4o F9-b%%-- Since, COP IS incveased, §P vatio hag

fall-

$8: _cale _of opexpl o Lak’k watio
Opevating expenset o Saled Tatio

= OpcexPS o
Salelk
Paxticulozs R0~ ROAR~R3
ad opem'h‘ng expences T 49,000 S <7000
b Saleg F 3,00,000 T 3,%4,000
¢ Ratio (A]pb x100) b 33% 1S - QYT

Commentf £~

Tn the yeas a0K1-a, fox every | Lale we
Spent T ©0:1633 on opevating expenses. whereas,
in the year &oaz-a3 Aoy Jenew\ﬁnc& 3 cale
company sPent‘ va 500'\-‘5&%’ tence, companv
genevated  higher gale wtth lowey Cogik-

g3: opexoﬁri’ng pof(t  Ratto
Opg- proHl Fatio = ERVT 100
Salek




Past cul ok RO~ ROIR~R3

ad ep\ T T 1000 < 19,000

bd Sales 23;000000 23,F4,000

c) opg: pofit yatio $% s-08%
(Al x 100)

Comment S~

Theve 1€ nO gignikicant ¢hange in EBIT/Sales.
That meawng, for Incveased <aleL, Ppropostionately
Opg.expL Ax¥e alko Increaged.

® Norer on esIT

Tn +he given Cuuaﬁtm, there 1< noO Infeyert &
taxation - Thevedore, €B81T & Net profit CPAT)
both a4are Same-

84. Capital T'0- Ratio
capital tumover yafio = _ Salel

%100
Cap-cm?f
Pasti Cul ai ROR|—AR ROXR ™R3
ad Caopital employed T1,00;000 T\ ¢Fooo
b) Sales Z3,00,000 F 3 7, 000
¢) Capital T'0r Ratio 300% RS G Y%
( blg x100) Cov) 3HMEL (or) RSl timer
Cox) 3%) Cov) X CYys |

CommentR ¢~

Pn the yYeay oal-ax, dov every Tl Invesied
company generated a  getum ot I 3, wherear
0 the yeary Aavar-=83 Hor every Il v etred

company Could generate only T & SY- Hence, the
Compony & not maldng bett ute ot cgpital:




g€<e Stpek T o Ratfio

Srocle To: Ratio = _COGS
AV g Srock

Pay ticulant 20_1~ XA R0ORR—33
QD COAS 2 R136,000 T R %000
) Aug- Siocls” T D000 T F%000
¢ Rafio (Ab) 4t R 3-9%
+* Avqg SCK calen

RO X~ AR R0 RR~A3

- opg £YoCk 40000 T 0000
] Cclg Stk 2 60,000 T Y, 000
3 AVg <ok 2 0000 T FH o000

[OPQ tClg

2

Commente -

Foy Yeas =Roal-aR, for evewy Il o
company

‘ manufactured goodd worsth T 4-1]
oand N the years Koax—a3, it i< T 3:2F and

these fore  compan has pot performed wel|
in  oXUging {4 gioek:

Se6: Nel proHUE 4o Nebworth Yatio
Netprofit 4o Nw =

NP yi00
N W

NP = PAT = EBIT in given ayueL-fton
NW = Eaty = ELC + R4S

Pog Hcul ot ROR(-RA ROIR—33
a PAT (NP) Z 1<,000 F19,000
b NW CESCHR £C) T 1,060,000 T |, [#,000
C: Ratio = [ b | €% b 4%
CommeniR 2~

T the yeas RORI-RR, for every Tlo0 of equity



fundg, Company gove a el of RIS, ok againgt
Tl Y In  Year RoRx—x3+ company Mmade. beet
uHlication o eauwty —unds.

Note: NP 1o NwWw (& al%o Known ak Y Rettw o

eaudty"

412 Recetvables collection perod

Receivablel collect on Pewx od

SadeA
Pasticul ot 30QU—AR ROIAR~I3
a) Debx T X000 T &R000
b) credit Salis 2 & #0000 2 3 424000
) Rec:collection é:r'dq% 84016{\(1&
period (X[b x360)

CommentR s~

Tn +the yYeay RORI-23, Caih CONNLTHONM Ly dL
(g 6‘+dcu4/s wheye ox [t {4 mcweas/m?
g% dayt tn  Year Roax-a3- Hence, not
good tndicatoy  and  comp pony 2hould 7wevige (4%
debfor Ccollection pohcv



(pg No-
3:48%)

2tep 12 Caltulanion of Capital Shucture after

Te — oxqamga’hb’\q

gince, it 1& Cald thhat <chave capital after
Te-organicatiomn 1S came aL bedore, TIL i<
the &ware capital even adfter the re-organigali

—on- Thevedore, valuer of Vanouk tlemg of
liabi || Tieg post veoiganigahon & as Folloux:
Ttem ot Liability “%o Amoount ()
|- ghare Caypital 0% |, 00,000 (Given)
2. othey £h funds (RS  15% 30,000
3 S% Dbebenturvel 0% R0, 00D
Yy current LiabiltieA  8<49 0,000
| 00% K00, 000
J
£0% —— 1,060,000
| 00°/o — :7
Recalted PRalanw gneel-
Liab{ li+{eg Amount () AxetR Amount(R)
Shave Capital | 1,060,000 |Land &« Building | 20000
Rexeyves 4 Plant « machinet| (o000
Susp |us 30,000 |CaXn Lo, 000
S % bebenttuset &OIOOO gyotk 20,000
Cuxyent DebLIvX o000
Total ;00,000 TOtal x; 00,000

| total AKeR= Total Liabilitie(™




Stepas Calculation of Afixed a etk 4

cuxventt a&keis
Tt (s given that, FA awe bo% oF total
a¥er oand balcmce wtll be Ck-
TOt=|
A et
(T,00,000)
N J
F& (60%) CA (Yo%)
J J
T |, 80,000 2 80,000
(X000, 000 X b0%) (R00,000 — |, 0,000)

&ep3s Calc ot additiorr made 4o Pam
A Total AKere after ve- orgn

= T R00,000
) Curvvenlt aKkets = (T %v/000)
Total P (atter ve-ovgn) = T | 201000
> Land & Building = (F & 000)
Total fn being Pam(aftey Ro) = T (o000
B- P4 (bedore RO) = T 3C000
& Add | depn = (¥ =,000)
Exigting P4M after
Add| depn = 2 30/000
Pem (Latter add| depn
£ Ro) = % (0,000
Additiond 1o PLM = % 10,000

(240,000 — F20,000)



Stepls Caleulation of wvalue ot <iwek
Tt 'S given that  Quick ratio i£ 18], which
meaws, do pay the CL, Company hak exactly
Some amount of (iawd as&eﬂ& bem@ Cokw +
debipA-

@ vick Yato (given) | 2 |

Ca—2mck _ |
cL

T &p,000 L cale InLtepa) — £CR —
S o000 (Srep D

5:80,000 — ngK = |
2 LO/000

T %0000 — SOCK = I LD,000
8hock = ZF 30,000

Sep £2 Calculation 64 ReceiVabler (pebhX)

LTt (€ 3given dhat veceivablek ave Lp/&'ﬁ’) of
the Quick AxeiR.

Tt & calculated Fhat @ A= T 20,000 (Stepy)
s~ bepbmX = Z $0,000 X Y |

= ZF Yo000-

Stepbs Calculation of <Salur.

Tt & giVen In the aquesttion that all SoltA
o¥e credit caler, Debhon velocity V&R the
vValue o4 <alu.

DebloA Velocity = amonthe.
bebhrk X\ = P
Cr - SalxAa
SGo, 000 X\ -

Salex



S 4 ¥v000 5
SalsA

Salrh = x40, 000

gtep?s Cale ot &Gwoxk Profil
Tt i8S given that P & |5s% of Sols.
so §P= S99 X Y0, 000

= 236,000

Uen®: Cale of Co&{g C pivect eX P+ Tnd exp)

Lok — &P = COg
T RGo, 000 — 234,000 = T R,04,000

Stepde Calcplodion of Neb it

Tt ig given dthat RONW = 0% RONwW £¢ algo
called ot ' Rog!-
RoeE= RetUWYNn - EART . EAT — 0O'0
Eoywity eq ELC+ R4S
EAT = o710 EAT= T (3,000
Z 130,000
Steplos Calc of pdmn and gelling exps
& 2088 pro-H & = T 36,000
& Nelb profit = (Z13,000)
Ohes e xpenseld = 22R3,000
= Tnier et expense = (B |000)
Admn + celling exp = T 000



Recarted Trading and PelLale

Particulagk | Debit () Particulaxn Credit ()
COG[S R OYy,000 | SOleA Xy o/0o0
&0 profit 36,000
XU o;000 QU b, 000
TN tey Al o000 | &0 L profilt 26,000
AAmn +Lellin KK O0O
Ndrmoﬁa {3,000
36, ®0D0 2b,; 000
3 Qepls Calculatdion ot  salk

PAN03:53 Tt {8 given that, Salm 1g 1X0% of Ditect
cofX and Ditveckt codR arve I 4,20 000-
2o Sollr = ;%0000 X (DY = T F RO,000:

Ste P2 Thcome Siarement
PogtHcul ot

Amoont ()

Soles CStep D ‘ +,20,000
&) Divect cosk Cgiven) (4, ', ©00)
&) opg- exps (8o, 000)

EelT (opg: profit) || 60,000
() Tnierest cosl

(3],000)
(8,00, 000 X S0 X &%)
EbT \[ Qg‘, o000
D Tor @ L% (64, 0oo)
EAT

66(./000



Stepas Calcvlation of Fatiog
| opg Profit  mMargin

E81\T Y 100

Sal\leg
=3 b0, 000

2::(‘/&0/ 000
= XIARX%

R Nelb profit mawgin
ERT 00
Sales
= Fbl,000
v ] x {00
2 FiRo;000
= g.gqo/o

3- Retum on aker (op- Doyt after =)
EBLT(lL— L‘) 00

'm%al agseﬂ
= T 60,000 (|~

O'XI)’) )(IOO
? g/OO/OOO
= X B0000 400
2 § 00,000
= 0%
Aglel T-©. Ratio S- Retum on eayuity
T-0 EAT
T K E®
= T #R0,000 = 64000 , oo
T 8, 00,000 T 4,060,000
— O-q 9‘

= lb%.



(T

tepl ¢ T'Iradma and Pal alc of Aebece Hd

pg- No- A- Tsadingalc
353 Pagticulax Debit (F) Pos 4] culaz Credit(s)
opg-Stock 801000 Salesr 3800,000
COGS K OO, OO0 Clg - ghrock 4; 00,000
blf) othey divedtexp: 380,000
Crmoggmsf‘—‘{t— 200,000
36, 00,000 36, 00,000
B PklLalc
Pagticulax Debit () Paa 4 culase Cxedit(S)
Ind’wccb GPOLL profit €,00,000
=X penset ;60,000
Coal 4 9)
Net prof<{t- 6,406,000
¢ Balante gheelr
Lialbi i ties Amnount () A &etg A ouNt (T)
Capital 3,060,000 TOta\ A - 4 0r0Q000
coryenlc Total CA $6; 00000
Liabl [ities by;00,000  Cinel €hockd
46,00,000

q b[ OO[ OOO




Sep: Calculanion of “otal cvrrent a&eds

Fixedaxet€ _ £ cgiven)
Current axke +F

= T 4000000 _ ©
CA T 7

> Ty 00000 X Fe = (LA

= Current aKeik = I 6,060,000

gtep3s Calculation of +otal Capital
Fixedaget® _ S Cgiven)

capital T4
= I 40,00,600 _ &
Capital Y
= Capital = T 4o00,000 X /<&

|

T 38,;00,000.

gtepys capital to +total \iabilitief

Tt 18 pregumed  that total liabilifies hese dsnat
nclude capital

= Capltal -

.
©tal liabiliti<d 2

= 9 3x,00000 _ |
TL R
= Total LiabihHeg = Z 3800,000 X & = F6400,000-

Gepse calculation of NP 0gng NP 3atio
6iven Net prott o capital = /< Co¥) 0RO
%_&L = O‘&D
Capit=l
_—>_N.L = O‘QO
?B&[OO/OOO
? NP = ?6( L{—OIOOO‘




tepbs Calculation of T-o CoF) Lalef
hiven NP yatio= ©-Q0

Sote’
= T6,40,000 _ .30
Saled

= Salex = T 6 40,000 /0-R0
= Salet = T 3R,004000"

Stepfs Calculation of 4P veng &P watfio

&iven QP rwatio = &GP - o0.8¢C
2q e

= @?_ = OQS

5 300,000

Stepgs Calculation of co@s

Given the galer and &P, the COGL = lex—GP
= 3 23,00,000— F &;00,000

= ?QCHOO/OOO

Tt 8 aumed that all manutactarning ot
e chavged “o  TYading alc.

epdqs calcvlation Of aveyage £MoCk

@iven ST0 Ratio = |0 times
= STO Raho = _C0&S
AVg StocK
=>' C0@g< - 10
A8
= TRGO00000 _ p
AVg Stbck

= AVg- SfoCk = I X 40,000



Steplos Calculation of opg- gk

Avg-gholk = opggtk + Clg-ShH

2

= T 4o, 000 = OPG.-gtK + T 00,000

2

= T 480000 = Opg- -tk + 2 4,00,000
= OPg-QtK = T Ro,000-

Ie-
Pg NO
3-59
&l'No Rafio Calculation Bench Commeni€
MaT K
| corvent coryent a et Tn vegard to CR,
FAR O corsent \iabi |itier the company hag
= ¥ <3,%p000 | XD |out peyformed e
T 112, %0,000 maz ket -
= Qb+
A Rec: T'0- | = Sales TN vegard o the
Tahio De bRk Rec- T:0. Tato the
Ca ¥umed all sate’k company hot out
ate on Credit) | 3 performed than -the
= 2110,00,000 indus oy -
2 (1,000,000
= |Ottmesr
3 ny: T-0- [ = Zalex Tn yegaryd o Thig
Ratio Stock Tatio, the Company
= X ;10,000,000 A € ounder pevfowming

? BB/OO[OOO
= 3'331Hmes

than inducioy. The
company gnall ook
tnto entize prodn
Cycle fo ¥ectnty
‘e dedect -




&1 No Ratio Calculation Bench Comment
mMavK
L Total a ek T0 Tn vegasd o thig
T0 A0 - T A Tafio, the company
= 110,000,000 | o IS undet pexforming
T 700,000 than the TnduLioy
= G3Hmee. gince indugisy i¢
FIVing T Lalet Aorv
cvery T weed asg
ogawnct 143 in dhe
gven cale-
s Net proti T Net oyofit Tn yegarsd ‘o thig
Tato SoleA Batiop Company 1<
= TR;31,000 3-S0% | Ondey peforming thay
2 1)lo, 06000 the inAuchy- co ig
= 810% IVINg FR 10 to E<h
KoY evesy oo colis
al aganet T30 by
(nduc oy -
6 Retuam on EBIT Tn vegarsd fo Thig
total aelR| o aek Yatio, the company
CeR\T) | =235 5000 1% |ie out peytorming
2 F4, 00,000 the indugioy i
= F-19%
1 Retusn on PRT Tn rvegarvd o thig
Net w oFth N W tatio; the company
CPAT) |= T ;3000 to-so%| 1€ VUnder pertorming
T (4 2,00, 000 Than tnduLioy.
= 4 9%
- tokal Debt | T+ CT Pebt Tn regard +o thig
Tolal A | FA + CH ratio, the Company
=TRA,00,000 60% |i¢ out performing
T T 00,000 the indusiy:

= 3%-6%%




T¢

PgNO-3cS | clearly menHoned, all

‘o0 be indicatonr of Hnancial

and ey ave al follows ——
% Current Ratio

¥ Liawd Ratio

* 0w0&R prof{t Ratio

¥ Nekt WDFH”C Ratio

¥ ok T 6 Ratio

¥ Debor T:0 Rato

* Debt eqy Wity Ratio

% Total Debt 40 Eqyulty Ratio
¥ Debt 1o Aotal capital:

* AVg: collect 6n peziod:

wm’Kincua NO teL &~

- calcvlation of aveyage Shock

gince, the Tafioe o be calculated 1< hot

satiog ag arve treaked
health arse calc

Average Siock = [@pﬂ.gmck+ clqg - &hock

a- Calculat

2
Padticul ot R0R30=2 ROXN-RR  ROAR~A3
op@‘smak 4007000 4,000,000 G4 k0,000
Clg- &iock ¢, 00,000 4 &0; ©OO 6, 00000
AVg - ST0CK ;00,000 4, 40000 & (O000

AA_&&C_QM{;MM
Average debor = [0pg~D'b& + Clq DZ&]
( —

Payticul azt R0R0—A | ROKN=-AX ~ RO0AR—A3

opg- DR K100000 200,000 R b0;00OO
Clg- D2 R 00,000 160,000 40, 000
AVQ - DR R100,000 130,000

R/ :fgl 000



3+ Calculation of Egyuity

Equity | Netwosth = ESC + Retenves

(Comm o & tock)
Paxyticular 2030 ~3&| Q0Q|-3R ~ R0AR—33
common LoCk ;00,000 00,000  |;00,000
Retexvel ;00,000 £,L0,000 50000
Bay UunLcd 6 ©0,000 6, S0000  §X0,000

4 calculation  of  @Gwpe Pmﬁ’t—
Goox profit = Salea ~ Co{L.-

Particulan 20306 =4 20|-3R 03X~ 3
Sale’ 40,006,000 (43,00,000 38 00,000
COGS 3;00/000  36,00,000 33,00;000
62D R DAL 8, 00,000 F00,000 ;00,000

calctulation ot vamous [ndilafoz
- curyent Ratio ¢— [CP\/CIJ]

Yeay value Remat kA .
A 300~ |
b;3p, 000 1-19 gince, the company
$/30,000 & maintining the
CR >\ in all Cacgex,
b ao\—AaR we can uvndercyand
;!b0,000] (B that CL can be
61l0'[000

cafely paid out ot
CA and theretore the
C: 08— 3 company 1< Lolvient

g,9g 000 |- 0 N ghoat yon-
¥, 4<, 000




] Liayuid tatio: —

Remas KR

Waving a LRZI g
bad \ndicat of
financial health of
a company. Reaflom
“or Sudh low LR ig,
huge casw 1< blociced
in fom ot ¢Yoek and
hence company Lhall
maintain E0G-

Ligguid Kke _—  Cagw -+ DA
Cuxrent liab
Yeay Value
a 200~ al
;36,000 043
£(30, 000
b 30&[—aR
Q8o 000 o-Yb
610,000
C- R0AR—A3
3,493,000 ©-40
g, 45,000

3° QR profit Railo “-
§UK mﬁbx LOO

Remas KR

<alef
Neay Vatlue
A A00—a)
8,000,000 RO
Go,00;, ©00
b Q0_al—KA
$£,00,000 16-R%
((—5100/000
C- QA0A/R—AR3
500,000 12- 1 b°L

ONVeY a pernod of
3 year, the company
hat a €hazp Hall in
i P vatio- the
pPo ¥ ble veason for
thic ig, high Hxed
col¥ which don't
avgment the <ales
Ih any way.



4 Net pf{t vatio 2—

NP Ratlo = Net p“m—HL-
Sales
Yeay Value Remas KL
G R0a0-R|
3,00,000 1-€%  6vey A penod of
4 ©0;00,000 3years, the NP satto
hag declined ghaspl
b Roal-a] Indi cating the advexe
100,000 4 6S% impact of companies
4{3,00,000 heavy indirect cagtg
Cike
¢ R0QQ—A3 % 24D exps xIntervest
;00,000 Q- 63% COLK ote
3¢,00,000
S- 2hock T 6 Ratio -
STo: Ratto = COGS
AVQ- 2ok
Yeax Vaiue Remas KR
L Q0KR6 — Al
38,00, 000 g ttmes From Year 30a&|
400000 10 Year a0ag , the
LTO Fvatto has
b- 803l—&& incveased Indicat
36,060,000 g-12Hmes  more worth of
Y 40,000 with the otk and
it Sharply +ell +o
C: o3} —Aa3 &'\l €mes indicatin
33,000,000 6.1l Hmeg  deticienciet in the
Q, ((-O/OOO

1m>o\uc:hon pPr0leK
in the year ROA3:



& Debtonr T 0 TAHO 2~

Salexs
AUCd- pDr¢
Yeax Vatlue Remas K2
a: 00— a| over a perod of
40,060,000 RO Hmes 3yeazt the DTO
Q00 OO0 ToHO hai Yeduced
gharply chowing
b: J08l— XK inetHcient Lalex
43, 00,000 12 FotHmes policy .
(30, 000
¢ ROAA— &3
3&, 00,000 13- 8Q Hmes-
&S 000

3 Debt equity Tatios -~

Debt egyuity Tatto

= Deblbt= LT Debt
Equity= ESC+ R4S

Yeax Vaiue Remas KL
A 030~ |
3,00 OO0 $0% The 1deal DER i8 Qs%l-
6,00¢000 Theve fore, the company
i& having (deal DER:
b-0Q1—ARK tow ever, foy Yea¥ ad
2,00,000 46 L 83, the DER hok
6;3D/000 fell 4o (6% Advantge
(e lower Hred couk
C R0]R—23 and dis advantoge (¢
3(00,000 6% lower —inancial levevage.
61%0,000



2. Total bebt 4o Egyulty

TOtkl bebl o EqQ uf+cd = LT Debt +LTDebt
ELC + R«S&
Neax \V alue Remas K&
Q- Q0Q0— & |
3,00,000 + £, 30,000 -3 ttmer The company has
600,000 (ncreated ‘R
total debt pzopn
b do_|- R jo “‘otal ownex
300,000 + 6, |0,000 | L{Oﬁme,& «flundA. P;d\;qnmge_
6,0, 000 (s tncyeoked FL
and digs—ady 1<
C 0R~- 33 Incye ased +ixed
3,00,000 + F( 4000 61 ttmet  commitmentz -
6,0, 000

9- bebt 1o total capital s-

Debt 1o toial Cap‘rta\ = LT Debl ‘
Total Capital = Debt+eEqury
Yeay Value Remas K&
o Q00 —& |
3,00,000 03321  Company iL maintl
9,006,000 —'hiﬂ@ Same leve]|
of debt ‘1o tot=|
b R0Q1— AR capital ratio.
3,060,000 O-3x% |
Qq,; SY,000
C- AR~ X3
3100, 000 0-323)




10- Average collectioyny penod

AVg collection penod = _ DX 35C
ﬂ P at’ A
Neay Value Remas KR
o QoRo—A |
R100;000 . 365 18- days H{gher The collect
( ©; 00, OO0 ~Lon peviod mose
No- of - days the
b Qoal—aa caXn C¢ blocled
430,000 y 365 |G- Saday ivn the foom o
(4 3,00,000 PDebip . Bt (<
pooY (ndicayor of
C- R0a3-X3 Llou wiality -
R FL000 o 365 Qb Ll days
38,00,000




FONDAMENTAL ANALYSIS onN

FINANCIARL ReguLlTS OF TCSC3||3)2093)

I- Analugsing the Ligguudidy vatios over | yeay

a For +the year Roal-3a8 (ending 31/2|22)
L) curvent watio

current aKetk
current (jab
= Fay,l9qcy
?‘ 3:(‘[OIO| CY
= a-492)
The company i€ maintaining a veay qo00d

CR of having T & (9 Hfor every =T Curvent
li abol lity.

(VY Liawd ratio
Liawuwid G &ketk
cuxrent Liab
= F sS44yFer
T 2% 90lcT
The company 1€ mainiaining a Vezy good
LR of having ZFIub for every T cuyrent
liakility - .
Thig§ company Fov Year K0A)1- a3 &
golvent i Shoyt 7un and can meet al
1S immediate 2T Liabilities-




b For <the Year 2033-82 (ending 31/3/23)
(L) current vatio

_current akei
co¥xvent Liab
a2y . -3 2|
T 392y
a- When compasea fo Yaav k0AI-K3, the CR
< g\\ghfﬁg Teduced by o0-13 but‘ sl it
& maintaining & decent CR. (>R
b- Thig Company hat made a Buy back and
has made paymeni® out of laxh, Caxh
eqwiValen® and bank balancel. Due o thig,
there i¢ a ghorpH=ll In caxly verulting in

fall of CR

() M@wﬂwﬁm

Liagwad a Keff

cuyyent Uab

Ea Q:F/b"*f-.?)

2 39,32y

= 1-&l 2|

Even aftey buy back, company i€ having
a decent LR of > Is|

—
-—




R capital Shucture Tathog

Pav ficulan Q0| -3 RO~
A- Debt Ea Wity

_bebt C L-T) - TE£29% = F<p38

By Wity 213 274,S3%

= 0 -07%% | = ©0-0%F8)

Company's buane® i< <Lubgranhally
cotned oulb vang owned fundi vatherthan
boviowed Hunda and hence, finane zsk of
the Company (& negligible.

B- Totl Debt 1o Eqyukty
= Toka| Debt (£T+ LT

Eawity
Particulan R0 1—323 RORA -3
0OST Debl b &2 R b
D LT Dept < 39F X038
Total Debt (1) QARR8 | Qb FIE
Eogyuaty  (2) 2 THIE3 2 Fy 3k
Ratio C 1) D-295| 0-3b¢ |

Sorveney Sratue O TC.8
Since, the company I8 having beftter than
(deal ULiaidity « @ap-<uctuve vAatios,
TCS (& abgolutely Solvent in Short sun

ol well a& in long 2un-




3 profitability wvahos =-

, (F incy)
Pagicul an Q021-33 8 DRA~ 3>
A- OPg: ;mmﬁt Tatio
K - Revenue 160/ 3] 90, 3 Y
& g ex penses Cl 1 61%) Cl 42,24 %)
3 \T/OP oottt 4R FRD LF,08F
4 %o of EBlT)gCﬂ@& Re A &Yy FRy,
4R, F33 y$,08F
1160,34] 1,90,3287

A Tegasdk —o opg- profit ¥aho, the Co hag
veoy good 6 of PIFT Yelovezy though There
(¢ o dight 4all by I 1-437%.

B- Nel= pyof{lt Yoo °—

2031-32 2022 ~Q2
NP Yatio =

PAT yi00

OP Rev/

Tota| Rev

| otal Revewnue (@) | bF &_F
Q- PAT (b)
3+ Ratio [ bla)

{,9C 682
3¢ 12+ 39,104

AR FEL \‘1 QR
M Qo%



G midcellaneour 2~

a) Retuwy omn Eww'\'l'u!

= PAT
EAt Wity
A0AN— AR R0~ X3
a) PAT (@ 3%18%F 3 39,106
L) Eoy WY (b) T 173 T Ty $328
D Retumw - (Aly)  4a-4 3% SRUb%A
b) Retum on total a Kefk
= _PAT
TA
0= RORR—33
a) PAT () 238 18% T 29,104
b) Total ascerr(b) F (;Q1,Ab3 e’
cd Retusn % (2lv) 2149 32-64%L M



